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□にあてはまる数を書きましょう。

① ( )

② ( )

くふうして計算しましょう。

①

②

③

④

×6 ＋ 8 6

＝

＋ 8 × 632

＝

40 × 6

240

＝

96 × 8 - 6 ×

×

8 ＝ 96 - 6 × 8

＝ 90 × 8

＝ 720

2

68 × 15 ＋ 32 × 15

32 × 175 ＋ 32 × 25

82 × 14 - 12 × 14

95 × 106 - 95 × 6

32

1

くふうして計算する2 目標時間 10分

NO１ 名前 点
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答え

① ( )

② ( )

① ( )

② ( )

③ ( )

④ ( )

1

32 × 6 ＋ 8 × 6 ＝ 32 ＋ 8 × 6

＝ 40 × 6

＝ 240

96 × 8 - 6 × 8 ＝ 96 - 6 × 8

＝ 90 × 8

＝ 720

2

68 × 15 ＋ 32 × 15 ＝ 68 ＋ 32 × 15

＝ 100 × 15

＝ 1500

32 × 175 ＋ 32 × 25 ＝ 175 ＋ 25 × 32

＝ 200 × 32

＝ 6400

82 × 14 - 12 × 14 ＝ 82 - 12 × 14

＝ 70 × 14

＝ 980

＝

6 ＝ 106 -

＝

100 × 95

95 × 106 - 95 ×

9500

6 × 95


